~ 100'=3" SLAB DIM. -

-
<

; | | | | | | | | | |
f

ﬁ_
@_

|
|
|
|
9 1/2" x 1 1/2"
DOOR EDGE NOTCH

OOR EDGE NOTCH

I
|
|
0 R S 4: 91/2" x 1 1/2°
D
|
|
—————— -

- 9 1/2"4)x 11/2"

—  DOOR EDGE NOTCH WALL EDGE NOTCH

|
|
|
|
|
|
|
1 1/2"% 112" |

30°-3" SLAB DIM.

9 1/2" x 1 1/2"
DOOR EDGE NOTCH |

_____ 91/2" x 1 1/2"
—IN | DOOR EDGE NOTCH

|

] ]

I

V! |

oo

SLDG A
PLAN SLAB PLAN

SCALE 1/8"=1"-0"

$
H— STEEL DIM.——— 14" — H——H——STEEL DIM.—
H—SLAB DIM.———= | | SLAB DIM.—=
| | |
| 11/2°x 1 1/2" | [l et/ x11/2
| WALL EDGE NOTCH | | DOOR EDGE NOTCH
| | |
| | |
FF._ | F.F. PR | | F.F.
L " T |
< oo ) | a4 . s
- < 4 -A. < Z '_.,E\‘ 4 a - A -
. 911: °. < -- 4
. ) S .
. . - pa) <
A A A g
.q = --q- ’
R
WALL EDGE SLAB NOTCH DOOR EDGE SLAB NOTCH

C3UBERGRER

=
S22
L T O T T T T T Y T O Y B I

[
z

STRUCTURAL SCHEDULE
E3385S.

)

BA316R 4 X 3 X 166A ANGLE (6.9) —  FLOOR BASE ANGLE ML) — 29CA. M-LOC WALL PANEL F1) — CONC. EXP. ANCHOR (SIZE BY CUSTOMER) - BASE TO SLAB CONNECTIONS — 1" ROLL MASTIC - INSIDE CORNER BOX
UAZSTER 4 1/6 X 2 7/8 X ESGA" CHANNEL (99) - FLOOR BASE CHANNEL RL) — 29GA R-LOC WALL PANEL F2) - 12 X 1 SD TEK (PLTD - STRUCTURAL STEEL CONNECTIONS — R PANEL INSIDE FOAM CLOSURE - LOW RIB INSIDE CORNER TRIM
St o2 /2% 1o G 1 - ¢ LY T 250 PAELLOC WL e, Ll g o ST corons - e ptrsie Fou closire - B%0n e T draft-ink
CASIGR 4 X 3 15 X 166A" CeE (11.9) TR R L | (RR) — 26GA. PBR ROOF PANEL 25 B (F5) - 12 X 1 1/4 WASHER TEK(OR ZAK)(PTD ~ EXTERIOR WALL SHEETING - R PANEL INSIDE CORNER TRM ~ LOW RIB HEAD AND JAMB TRIM P.0. BOX 14588 springfleld, mo. 65814-0888
ULZS16R 4 1/8 X 2 7/8 X 166A CHANNEL (9.9)  — EAVE CHANNEL =S| (RW) — 26GA. PER WALL PANEL 2| zx ;4 WASHER TEKIOR ZAKPTD (PLTD) ~ — ROOF SHEETING w - R PANEL OUTSIDE CORNER TRIM - DOOR MULLION COVER TRM NEW STORAGE BUILDING PROJECT FOR: 417.887.0161 fax.883.5084
E64316R+/0 3 X 6 X 4 X 16GA STRUT (13.9 Z EAVE STRUT a - 12 X 1 1/4 WASHER TEK(O — EXTERIOR TRIM DRILLER — DOOR CORNER MULLION — LOW RIB OUTSIDE CORNER TRIM
AS MANUF,{;;TURE; (133) —  FLOOR CUP L S ) (F8) - 14 X 7/8 WASHER TEK(OR ZAK PTD — EXTERIOR WALL PANEL LAP 5 —  DOWNSPOUT WITH KICK OUT — OUTSIDE CORNER BOX Central Stor age Works project-| NOT FOR CONSTRUCTION drawn  date ohkd date
%ﬁi% E g g g :%ﬁ EEELFES( o) z (ESRI;)-LRTIEI)EAD woE 3 o Rl 1; X 7;3 WASHER TEK{OR ZAKS(PTD (P} Z INTEROR TRM LAP @ T BAVE PLAsme T T RAE TR D e self-storage systems WP 01.01.04

= F11) — 1/8 POP RIVET — EXTERIOR TRIM — FORMED RIDGE CAP — RAKE TRIM By Central States Manufacturing
CB2516R 6 X 2 1/2 X 1BGA- CEE {11.9) - JACK RAFTER o B5 1 (F12) - 12 X 1 1/4 WASHER TEK(OR ZAK)(PTD! — INTERIDR WALL SHEETING A - -

i 7S GUTTER END CAP HALL TOP TRIM

ClzsleR 12 X 4 % Joon o G08) T Muuon, = = | (F13) - 12 X 1 174 WASHER TEKEOR ZAK;EPTD; — INTERIOR TRIM DRILLER — CUTTER HANGER STRAP — ROOF TIE IN_TRIM 302 J Pl Lowell AR 72745 customer-| PRECONSTRUCTION REVIEW DRAWINGS sheet
SATmIaR 212 X4 K2 12 X GOACIEE (88) = MOF PURIN 5 B f (F14) = 14 X 7/8 WASHER TEKEDR ZAK;EPTD; — INTERIDR WALL PANEL LAP = — POST HUNG GUTTER — ROOF STEP TRANSITION FLASHING an€e rilace, Lowell,
TaoaioR 3 173 X 6 % 2 172 X 1008 26E (113 - ROOF PORIN = o [ s - 1ex 7/ WASHER TEK(OR 24K PTD)(PLTD) - INTERIOR TRIM LAP @ - DOOR HEAD COVER — 40Z. TOUCH UP SPRAY PAINT (877)770—5206 fax (800)356—2971
Z82516R 2 1/2 X B X 2 1/2 X 16GA. ZEE (139) - ROOF PURLN = = | (F16) - 1/8 POP RIVET — INTERIOR TRIM = — DOOR HEAD TRIM
BASIoR 4 X 2 X 1ock AMGIE (30 e - RAKE ANGLE = HICH EAVE TRM www.centralstatesmfg.com
E64316R—/0 3 X 6 X 4 X 18GA. STRUT (13.9, - RIDGE STRUT




